Hi KOKI

A W N

© 00 N o O

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
24
25
26
28
29
30
31
32
32
33
33
33
33

Artikel
STANDARD ACCESSORIES
303694 TAPPING SCREW D4X35 (W/FLANGE) BLACK
339994 GEAR COVER NEW
339998 ARMATURE AND PINION SET NEW
328195 MAGNET
338867 BUSHING
998008 HEX.SOCKET SET SCREW M8X20
333945 BALL BEARING 608VV NEW
998004 CONNECTING ROD ASS'Y
993163 NEEDLE BEARING (M152112)
339999 SPINDLE AND GEAR SET NEW
998010 PROTECTOR
993546 PIN D6
998005 PISTON
998000 MOVING BLADE
949812 HEX. SOCKET HD. BOLT M4X10 (10 PCS.)
998001 STATIONARY BLADE
998009 SLOTTED HD.SET SCREW M4X14
949565 LOCK NUT M4 (10 PCS)
949454 SPRING WASHER M5 (10 PCS)
949237 MACHINE SCREW M5X12 (10 PCS)
998007 BLADE HOLDER
328200 BRUSH CAP
999054 CARBON BRUSH 5X6X11.5 (1 PAIR)
334696 BRUSH BLOCK
328202 BRUSH BLOCK
370161 HOUSING SET (A+B) NEW
301653 TAPPING SCREW (W/FLANGE) D4X20 (BLACK)
314428 SLIDE KNOB
HITACHI LABEL
328199 SLIDE BAR
329057 PUSHING BUTTON SWITCH
370163 CONTROLLER TERMINAL SET NEW
370162 CONTROLLER TERMINAL SET
336385 BATTERY BSL 1850(EUROPE.AUS.NZL)(2 PCS.)
336265 BATTERY BSL 1850 (CHN)
333352x BATTERY BSL 1815 (EUROPE)
330068 BATTERY BSL 1830 (EUROPE,AUS,NZL)

Onderdelen voor CE18DSLWPZ

Aantal gebruikt
0
4

N NN

Pagina 1/4




Hi KOKI

34
35
501
502
503
504
505
506
507
508
509
510
540
541
542
545
547
548
549
550
551
551
551
552
553
560
561
562
563
564
565
567
570
571
572
573
574
575A

Artikel
328709 PACKING
339343 SUPPORT (D) NEW
CHARGER (MODEL UG 18YFSL)
943277 HEX. BAR WRENCH 3MM
949128 THICKNESS GAUGE
329897 BATTERY COVER
339992 PLASTIC CARRYING CASE NEW
336471 CASE ASS'Y (STACKABLE)
336472 LATCH
336473 HANDLE
336474 HINGE
339993 INNER TRAY CN18DSL HSC
CHARGER (MODEL UC 18YFSL)
336269 CASE (A) NEW
336272 FAN
336270 CASE (B) NEW
336273 HITACHI LABEL NEW
336277 TERMINAL HOLDER NEW
336276 LED FOR PRINTED CIRCUIT BOARD NEW
336271 AIR DUCT NEW
336281 CORD FOR GBR NEW
336278 CORD
336279 CORD NEW MAY
336288 PRINTED CIRCUIT BOARD ASS'Y 220-240 VOLT NEW
336275 FILTER NEW
CHARGER (MODEL UC 18YKSL)
336591 CASE (A) NEW
336598 CORD (KOREA)
332540 FUSE T3.15A/250V
336605 PRINTED CIRCUIT BOARD ASS'Y UC18YKSL
336593 CASE (B) NEW
EXCEPT FOR USA.CAN
CHARGER (MODEL UC 18YML?2)
332978 CAUTION PLATE NEW
329040 CASE (A)
328531 @ FILTER
327174 TAPPING SCREW D3X8 TP
335779 FUSE T3.15A/250V (OLD 324736)

Onderdelen voor CE18DSLWPZ

Aantal gebruikt
1
2

Pagina 2/4




Hi KOKI

Onderdelen voor CE18DSLWPZ

nA° Artikel Aantal gebruikt
576 | 949553 NUT M3 (10 PCS) 6
577 | 329045 INSULATOR (A) 1
578 | 329043 FIN (A) 1
579 | 993963 MACHINE SCREW M3X12 (W/WASHERS) 6
580 | 333238 FIN (B) 1
581 | 330131 CASE (B) 1
582 | 326358 TAPPING SCREW D3X18 (W/FLANGE) 4
583 | 327173 CASE RUBBER 4
584 | NAME PLATE 1
585 | 328528 PRISM 1
586 | 328530 TERMINAL HOLDER 1
588A | 337908 CORD FOR CHARGER (OLD 328634/318262) 1
589A | 337913 PRINTED CIRCUIT BOARD ASS'Y 230V-240V 1
590 | 327175 @ TAPPING SCREW D3X25 (W/FLANGE) 2
591 | 326809 FAN 1
592 | 333239 INSULATOR (B) 1
593 | 328527 STRAP 1
594 | 330168 DC-CORD (OLD 328526) 1

Pagina 3/4




NODEL

CE18DSL

Rev.3

Pagina 4/4



